) —

chapter 17 - Correlation and i f?”"”
(7)  If the plotted point in a scatter diagram lie from
Reg"e”bh lower left to upper right then correction is:
a.  Positive
Correlation - Scatter Diagram b.  Negative
e . Perfectively negative
Past Year Questions d. Ze,"’

- PYQ May 18 ® Scattered dzagram is used to plot
1 Ifthe plotted pointsina scatter dzagram are evenly a.  Quantitative data

distributed, then the correlation is

b.  Qualitative data
a. Zero b. Negative c.  Discrete data
& Positive d. (a)or(b) d.  Continuous

A B - NS ' o
(2)  Speed of an automobile and the distance required
¥ to stop the car after applying brakes oorrelatton is
a. Positive b. Negative
C Zero ' d. . None of these
Note: Confusmg questwn but ans is taken as per ICAI

“orrelation — Scatter Diagram

Mock Test Paper Questions

The covariance between two variables is
a.  Strictly positive
b.  Strictly negative
Cazwt Always 0
d. ‘Either pe 1tzveorneatzveorzero e

. Correlation analysis aims a '

a.  Predicting one variable for a given value
~ of the other variable
b.  Establishing relation between two
_ variables
& Measuring the extent of relation between
two variables

~d.  Both(b) and (c).

s MTP May 20
0 If the data points of (X, Y) series on a scatter Lk ::oh:l’; lrie= < o dwgmm
(7] £ that
diagram lie along :u;mlgh;'r:::eleﬁ 5 nggo; a.  Ona strai;ht line directed from lower left
downwards as X- 0: = .”_"’wﬂ”‘ ation. . b‘; | tgupper right
L thedata exhibl AR p;;:et:azght line dzrectedfrom upper left
-3 g to right
. Direct . g
Z I mpeff“t md;rect ) P EEN Onastrazght line
c' Tndirect BT diz Both (a) and (b)
. : di ’ed 3
d.  Imperfect




CorreI;tion and Regression

®

)

: ” . Neiative ~d. none oi these. @) Giventhat
i sl X Y
(10) For a mxn two way or bivariate frequency -3 9
table, the maximum number of marginal ; Y i e
distributionsis . 0 Rk t
a5 ) - —
c. mn d mn - A 3;2 g
. 2 9

6k plotiod poines in & soufter dingramle. .. o

o MTP June 2023 Serjpg I
i MTP Apr21 ap Ascatter diagram of two v;nal'ales develt)ping
(@) Priceand Demand are the example of a pattern of m ultiple c.xrcu T TiNgs represey
a. No correlatio;; | which kind ofcorrclatwﬂ?
p.  Positive correlation o Ppositive
c.  Negative correlation b Nega sive
d.  None of these Curvilinear
MTP Nov 21 o .
No correlation
) Fora4x7 classification of bivariate c?ata, .the . d. MTP June 24 Ser 5
maximum no. of conditional distributions 1s: TN e hclase ification o f bivariatesdea’tualihe
Al e i maximum n0. of conditional distributions s
Ee35 d. None of these : b P4
MTP Nov 21
(6) Below scatter diagram shows what type of ‘
correlati_on Lo oo
6 P 6 d
9 50
1Z25b

; Karl Pearsan product Moment Correlation
0 i iy g R - S
o fetr pa e U Past Year Questions
a.  Perfect negative correlation
> Negafzve correla.twn The covariance between two variables is
c.  Positive correlation . ; e
a.  Strictly positive
d. : 3
b.  Strictly negative
¢ Alwayszero
~d.  Either positive or neg I

(@  Correlation coefficient is
units of measurements.

a. dependent ~ b. independent
both = d. mnoneofthese

(3)  If the correlation coeff. between the variables X
 and Y is 0.5, then the correlation coefficient
 between the variables 2x —4 and 3 -2y is
IORT. T e b0 o

2o e NG AT 16 #lady 0

from upper left to lower right, then the
correlationis $
a. Positive  b. Zero

_of :?




Then Karl Pearson’s coefficient of correlation i

3 PYQ June 22
tive b.
. Positiv Zero (12)  Karl Pearson Correlation Coefficient method is
.  Negative d.  None of these X used for-
ggﬂ ta - : .PYQ June 19 a.  Anydata
9 If the €8T ‘l’s;w" : “f of y on X s given by y N b.  Scattered data
2 and Karl Pearson’s coefficient of correlation is c.  Grouped data
X o Oy 0 d.  Ungrouped data
0, i und ' - PYQJune22
oo bg ) (13) Whlch of the followmg is used to find
Thy L% Nohe Qf hiese correlation  between  two  qualitative
= A gﬁw«wgww@ PYO No‘é&ﬁ characteristics
(6)‘“ What is the ooeﬂ‘iaent of correlat:on fmm the el

following data?
X 1 2 3 4 5
Y 5 4 3 216

coefficient between x und»

R BN % b. Z(x,y)
Y] 'I‘heoovarmncebehveentwovanabl&szs 5SS
a.  Strictly positive -y 2 %y
b. Stnctly negative S5 d S5,

d. YO |
- may be defined as the ratio ofcovanance
 between the two variables to the product of the

~ standard deviation of the two variables

a.  Scatter diagram

b.  Karl Pearson’s correlation coefficient
c.  Spearman’s correlation coefficient
d ef] ieitt 0 concurrent deoidtions '

For- =~ the - st :
((1,2),(2,5),(3,7),(4,8),(5,10)} the

Karl-person’s  coefficient of correl
approximately given by £

(16) Ifoov(x,y)-—215 S 1.30 S, —250
then correlation coefficient r is
Q.31 1=0:667 g
b. 0.66
¢ 076"
d.i: 0.99

(10) If the sum of the product of the dev fions of X .
)1' and Y from their means is zero the correlation
~ coefficient between X and Yis:
a.  Zero ' b. Positive
Negative ~ d. 10

(17)  The range of the coefficient of correlation is
between -1and 1 '

between -1 and 1 including 1

‘between -1 and 1 including —1

between -1 and 1 including -1, 1

Ao SR

(1) The sum of square of any real positive
quanlzuw and its reciprocal is never less than:

oo e gt AT
3 i ek L
NOtc:Ranemberthzsasaproperty

o -
N Compiler - Oumﬂtaﬂvolptltude Edltlon 4

CA Praonav Popat
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orrelation and Regression
0.4 - "
(18) The variance of two variables ‘x’ and 'y’ are 16 and £ MTPMay 2
el i e SR ¢ ©6 Ifthe relation between X and uis 3x +4y + 7 _ 0
. ot Igy? d as u % :
i vanab—les uz )‘;;d ,Zc:rccgfﬂﬁ;:en, of and the correlafton coeﬂ‘iaen.t between‘x and y js _
- (x;z(z ::;1 v = (y- ¢ 0.6, then what 15 the correlation coefficient between
correlation between ‘u’ and v’ 1s: »
a. . 0875 #4s Ligbrg0.85 Zand y_'o.s b. 0.8
c. 090 A ;éy 0.925 i 0.6 d -08
1d 2 b 3 ¢ : I Nl
i & ¢ Sk 7)) Whenr=0 then cov(x,y) is equa to
7 d 8 d 9 b M i 11
10 a 11 b 12 a b. ;)
13 b 14 a 15 b ;
16 a 17 d 18 d ik
i  MIPMarch2ey
L And b, are all have

Karl Pearson Product Moment Correlation
b. Same

‘ - None

Maock Test Paper Questions

: ‘.'1.-,,'."'.‘ ? By Y o e s A
Correlation Co-efficientis ____

measurements

a. Independent

et Both

Strictly positive
" b..  Strictly negative I
c. Always zero :

Either positive or negative or zero

ATD
Vil ¥

b. Dependent

/

The correlation coefficient (r) is the __ the

two regression coefficients :
a. AM ‘b. GM

v HM & d. Median

'(11)' The coeﬁiaent of correlation between x and y 3
0.6. If x and y values are multiplied by -1, then

l coefficient of correlation will be

\ R 0b b. 1/06

| ChGa D6 d 04

| ' . - ‘

‘ @ If the relaion between o wridbes x and y in 1 e o Cquations:m + 3p =2 g on i

- given by 2ue3yrd=0, then the Value of the L Corrlation coefcients for p and q i 03- it

correlation coefficient between x and y is the correlation coefficients of m and n
o ORI A Skt o REAT G e B o

‘ ¢ 05 d  None of these

|

(13) If the covariance between two variables is 20 and
would be the variance of the other variable?

‘ (5)  Iffor two variable x and y, the covariance, variance

f of x a'nd variance of y are 40, 16 and 256
respectively, what is the value of the correlation
coefficient?

— {74}




3/ b. More than 10

] 2
" % ¢ v (1) If r= 0.6 then coefficient of non-determination is
Less than 10 d. More than 1.25 a. 04 Z ;) %Z
MTP March gt 0.36
on MTP June 24 Series I

L iance between two variables is
g o (22) The correlatwn between two variables x and y is

o trictly positive
: ztrictlz ,::gative found to be 0.4. What is the correlation between 2x
&' Always 0 and (~y) ? : -
tive or n atwe or zero. a. 0.4 R
- : F‘t"f‘f'rp"“: eg ~ MTP March 22 B 0.6 80 i d. None of these -
| 'mcov;zﬁance between two varzables Xand Y is pok %m S W[muw
£ 8.4 and their variances are 25 and 36 resp. (23) Correlatzon Co-efﬁczent is of the units of
ts
lculate Karl Pearson’s coefficient of correlation measuremen ,
fa 0.82 b. 0.28 , a. b. Independent

_ these

d. 0.09 g

001 : 7
y,’thecovar;ance, variance
> of y are 40, 16 and 256
at is the value of the correlation

(1;) If correlation co-ejﬁcie r between x and yis 0.5
s¢  then r between x and -y is
&1 b. 05

-05

3 b. 0.625

r=05,5xy=120,0y=8, Tx% =90,

~value of n is equal to
where Txy =3 (x—INy—7),Ex* =Z(x %)’
a. 5 . 10 -

p

Dematwn ofyis 2 (26) The maximum value of correlatton ooejﬁaent Is

g it \ A S

S ‘ d. None of these

& 16 % A " MTP Tur 1e 24 Series
ey = (27) Correlation Co—e)ﬁaent is of the umts of

y  measurements
seen two variables X and Y is

8.4 and their variances are 25 and 36 respectively. Z' Il;)dt;p i 3 ?Izr:teen:e:l:ese

Calculate Karl Pearson’s coefficient of correlation St » - o 3

bmvae" them ) june 24 Seri

o 0.8 Je o pgie (28) Iffor two variable x and Y, the covariance, variance

5 : A of x and variance of y are 40, 16 and 256

0.01 d. 0 09

respectively, what is the value of the correlation

@0) Ifris the Karl Pearson’s coejﬁcwnt of correlatwn P

in a bivariate distribution the two regression lines S ggl : 3 2?525

C.

are at right angles when ___ ——
a. r—_—ﬂ . b. r=0 § )4 1;
c e T 1 Nok if the coefficient ofcorrelatton between X and y is

0.5, the covariance is 16 and if the standard
deviation of x is 4 then Standard deviation of y is:

Py

CA. Pranav Popat

°°"P'¢r GumﬂtaﬂveAptltudoEdlﬂon4 g
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Correlation and Regress/on

a. 4 b8 C. r=040
o 16 d 64 d. None of these

Answer Key : PYQ Dec 23
1 a 2 b 3 a (4) The coefficient of rank correlation between tp,
14 ¢ 550 6 c ranking of following 6 students in two subjects
70 8 b 9 d Mathematics and Statistics is:

11 12 b s
;g Z 14 ; 15 b Mathematics | Statistics
16 ¢ 1774 18 b 3 Z
19 b 20 b 240
22 b 23 b 24 b 9
25 b 26 b 27 a 8
28 b 29 b 1
2

Spearman Rank Correlation

Past Exam Puper Qwsti(ms

25 Rank correlatton ooeﬁiczent lla bet'weenr :

" Otol _ i
b. -1 to +1 inclusive of these value
C 2= s idol)
d

Both

g 3 8
s R

Given the following series:

8

d 2
E 6zd

(6) For a.group of 10 students the sumof squarw of
difference in ranks for physics and chemistry
- marks as 60, what is the value of rank correlation

coefficient (Choose the nearest value)
v B3t Y0836 niriinies DowiiD 225
R0 565006985 5 v d. 0.842
1 6Zd’+ S
. = n(n -1) (7)  Spearman’s correlation Coefficient is used to check
. o m, -1) -a.  The scattering of the data
1- 62‘12'" b. . The relationship in variables
i1 n(n -1) e The median of a data

R R R Y T i) d. Therangeofadata
(3)  Determine Spearman'’s rank correlation coefficient A

from the given data ¥.d* =30,n=10: 1 b 2 b 350
& % a=082% ' 4 a 5 d 6 a
bk he0.32 7 b

.




g
il

Spearman Rank Correlation

Mock Test Paper Questions

MTP May 19
If the sum of squares of dlﬁerence of ranks, given
by two judges A and B of 8 students in 21, what
is the value of rank correlation coefficient?
g w0 b. 0.65
c 0 75 d O 8

 MTPNov 18

If three ] udges appomted for a beauty competition,

G) then how many different rank correlation
coefficients are required to analyse the judge
&9 b 1
C 2 _d 6

(3) If the sum of squares in dtﬁerence of ranks, given
by two judges A and B of 8 students is 21, What is
the value of rank correlation coefficient? -
g A0 b, 065 5

e 055

d 08

3
5 4
3 9
4 8
Tos 1
10 il

a -0.26 b.: 20535

6)  The sum of the squares of dtﬂ’erences in ranks of
marks obtained in Physics and Chemistry by 10
- students in a test is 150, then the coefficient of
- rank correlation by :

I'°°‘?4mv&:l¢vr w Otmtltatlvo Aptltudo Edltion 4

il Correlation and Regression

-

a. 0849 b. 0.091
0.909 d. None of these
MTP Dec 23 Series I

If the sum of squares of the rank difference in
mathematics and physics marks of 10 students is
22, then the coefficient of rank correlation is:

a. 0267 b. 0.897
Cig 092 d. None of these
ek s+ n M Jute 24 Seqies I

8

C)

' CA Pranay Popat

The coeﬁiaent of rank correlation of marks
obtained by 10 students in English and Economics
was found to be 0.5, it was later discovered that the
difference in ranks in.the two subjects obtained by
one student was, ,ngly taken as 3 mstead of 7.

squares of dxﬁ’erenc&s in ranks of
ed in Physzcs and Chem:stry by 10

b. 0.091
d. None of these

Correlation: Concurrent Deviation

Past Exam Paper Questions

In the method of Concurrent Dematwns, only the
directions of change (Positive direction/Negative
direction) in the variables are taken into account

for calculation of

a.  Coefficient of SD

b.  Coefficient of regression
c.  Coefficient of correlation
d

. None of these _
Pt g ' ; PYQ June 22
If concurrent coefficient is 1/ J3and number of
concurrent deviation is 6 for n pairs of data. Find

total number of pairs?
a9 v b 58
G0N d. 11




Correlatlon and Regressl’an

SIEE L : ] 3 MTPMa‘rchzz
Answer Key ) If the coefficient of correlation betwe'en Boo
b 20¢ ridhies s 8 =09, then the coefficient of
ination is
! oD B ol oo 8 determinati e
Correlation: Concurrent Deviation i 0.9
A 0.1 d. =019
SRR : S5

Mock Test Pa Qnesﬁm
Ptf _ MT T 18 6)  For 10 pairs of observations, number of concurrent
a
. Gt -~ deviations was found to be 4. What ‘S?the value of
(1) Standard Error of Correlation coefficie the coefficient f con current deviation?

o «/53 b. 1/3

o

g a. 1-r
W B e
b. 1+7° PRV AN A " MTP Dec 22 - Series
Jﬁ @) ; For n pairs bservations, the coefficient of
1+r? ' viation. is calculated as 1//3 . I
C +r ;
N
e
N
R O e LR =
SIS NP 15
(2) Probable Error can be obtained usmg Correlatzon
- coefficient as - .

£ 2
8 U

Regression

Past Exam Paper Questions

The two line of regression intersect .a the point
@. Mean  b. Mode
~ Median d. None of these

@

) Iftwo lines of regression are x + 2y — 5 = 0 and 2
+ 3y —8=0, then the regression line of y on x is:
a. x+2y -5=0

Itis theoorrelatzon betweentwovanables b 2x+3y-8=0 .
having no causal relation. B c -’“"23/ 0y
ol e+ 3y =0

d. It is a negative correlation

| @ If the coefficient of correlation between two @)  Ifthe tworegression lines are 3X = Y and 8Y = 6X,
. variables is 0.7 then the percentage of variation X then the value of correlation ooeﬂ'ictent L

unaccounted for is 8, 0558 b. -05
B i; 0% i M Vo300 s 08 o Q)75 B _d. -080
AN S1% ! 55 e
é’ - SR (4)  The regression oaeﬁiaent is mdependent of the
' change of: ¥
S Seae™ B G < O

. ¢ Both(a)&(b)  d. Noneof these

m . CA Pranav Popat '




K W Correlation and Re—gfess_lbﬁ‘ E

[ | M. of regression coefficient is R G ~ PYQJuly21
f  Equaltor (12)  The straight - line graph of the linear equation y =
d p.  Greater than or equal tor : +bx, ;lor’e is horizontal if
. Halfofr ‘ = b bz0

C. b=0
d. Nom;‘.of these EATTTOUER. L KRS . oaw

I (13) [, =164, =~0.4 then r,, will b!e:.

FE A ,y:r'_ SRR T A L LB A A

%; [fm;olineofregrasion arex + 2y -5=0and 2x +

3y-8=0.S0x +2y-5=0 a. 04 b -08 _

o yonx b. xony — 0;,4 5 T

. Both@&®) _d._Noneofthese SRR G L PR
@:” N Al RN ) (14) - If the slope of the regression line is calculated to be
) Find the coeficient of corrlation. - g.g and the intercept 15 then the value of Y if X i

is:

& 2x+3y=2
a.

P
a. -071 e .71
"o -5 d 05
PYO Jar a52x+5y—9=0aﬂd3x"y"

(8)  The interesting point of the two _regressin _nm
on xand xonyis
a. (00

Ve, 1)

' t of two re linwlls
& at X-axis. If the mean of X-values is 16, the
standard deviations of X and Y are respectively, 3

Goen hat theoariance of x s equal.f e “

square of standard. deviation of Y, :
regr&sioniihéb:fﬁoﬁxisy=40+' : and4,thenthemeanof¥-valuexs
Then regression line ofxonyis Pl Bond ;6/3 Z ‘;
o y=40+4x-30) B e
b. =40+ (x - 30. SRR B , PYQ JW'y <
Tood : - 40 : gx X 3:» (17) The regression ooeﬂicwnts remain unchanged due
S . g Shift toorigit "<-b. Shift to scale
b male, ¢ = Always  d. Never
the two lines ofregmsiwi are 4x

(18)  The equations of
43y +7=0and3x+dy 8 = 0. Find the

it wrrelaﬁonweﬁ?cimtbewxmdy? :
W 075 e R

125

(10) Regression cot
a.  Ashift toscale
b Ashift toorigin

d.

-0.92

C.

il Repxacing’x;wluasbyl B
it ' Falhat D (19) The regression equdﬁonsare2x+3y+1-0and
& Replacin‘gyvaluésby-l- ; 5x+6y'+1-0,thenMeanofxandyare:_
Y ' e gk nad el W
AL 11 4. 2:d

(an)  Ify=9xandx =001y ther ris equal to:

* a 101 by 0.1 @0 Ifb,. =0;5}bu=0.46 thenthevalueofoorrelation‘
- odh ©403 2 or b Wdem,t&: : : |

' o 023

0 +0.3
~ arh 089"




Correlation and Regression

PYQ Jun 23

(21) For pariables X and Y, we collect the four

observations with
Tx=10;Ty=14Lx’ =65; Xy’ =5and
Y xy =3.What is the regression line of Y on X?

y=-08x-55
y=08x-55

y=-08x+55
y=08x+55

AR D &8

PYQ Jun 23

(22) The regression lines will be perpendicular to each
other when the value of 7 i

a. 1 o 2 &1

S A [ el R

: - ~ PYQJun23

(23)  If the regression equations are x + 2y =5 = 0.and

2x + 3y -8 =0, then the mean of x and the mean of

yare , respectively.
a. -3and4 b. 2and4
C o Tanis __d.' 2and 1

"@4) I the regression line of y on x and of

given by 10x=290=-20y and 7y —104=—4 :

Then the arithmetic means of x and y are ™
“ g 1 v 712 Q@

greater than unity, then other Regression
coefficient (r,,) of x on y is:

a  Lessthanone =~

b. Greater than one

C. Equal to one

qual to zero

’ - : ~ PYQ Dec 23
(27) If 4y—6x=18is regression line of y on x
coefficient of correlation between x and y is 0.8
then value of regression coefficient of x on y ié? ;
a. 0.2448 b. 0.4267

O in733

d. 0.7441

]

e

(1)  Equations of two lines of regression are 3y+7 2

CA Pranav Popat C

PYQ Jun 24
wes are 3x—4y+8=0 ang

the correlation  coefficiens

28) If the regression lir

4x-3y=1 then
between x and Y 10 i
a . ot b"3/8
. 48 d 14
PYQ Sep 24

g statement is correct?

(29)  Which of the followin
efficients are independent

chression Co

a.
of origin and scale

p.  Both regression coefficients must be less
than unity

c. The regression lines of two independent

variables ave parallel to each other
d Iftwo regtession lines coincide with each

other, there is o correlation between the

“variables

v e (0L
: wﬁich“éf _étﬁé following statement is correct
arditig limit of the two regression coefficients?
. Must be positive :

" No limit ;
One positive and the other negative

Product of the regression coefficients
must be numerically less than uni

a 2ol 3a
b 5 b Ein
a 8 b 9 d
b 115:c 12 ¢
b 14 b 15 2
g 17 a 18 a
o 20 d 21 ¢
‘:.d 9350 5 i
2508 26 a =ty
288 29 b 30 d

Regression
Meck Test Paper Questions

13

0 and 3x+ 4y + 8 = 0, the mean of x and y are
a.  57&6/7 b. 4/7 &-11/7
¢ 284 d. rnone '




/ m Correlation and Regression

 MTPMay18 A o - MTP Nov 19
I two vanablcs are uncorrelated then regression (11) If two regression coefficients are 4 and 0.16, the
) Jines are percentage of unexplained variation is.
# o  Parallel b.  Perpendicular A 64 b. 36
2 Coincident L3S Inclmed at 450 ) ¢ 54 d._ 46
If the two regression co-cﬁ‘iaent are 4 and 0. 16 the (12) If the coe[ﬁaent of detenmnatwn is 0 64 and the
percentage of unexplained variation is: regression coefficient of x on y ‘is 4 then the
g Sl o b. 36 . regression coefficient y on x is.
o di 5032 b. 0.16

."&(4) por twovarmblw xandyw:th the same mean the R I B el | e N e
s regression equation arey = 2x-a and x = 2y-; what 13) If two vanables are'l;
is the value'of common mean :
a. Ay b.. B
; o

(5) a bivariate populaion the linear regresso
lmx 3x+y—2=0 and y+x = 0 then the coefficient of

6
,M\M‘ ‘ia.’s

Ifr=06thentheooeﬁiaentofnon-determz
04 e b6 -

'The two lmes of regmszon become tden
a =1 gE =1
‘c.f i BT d. Both(a)&(b)

"I‘he regmswn ooeﬂ‘ic:ents remain unchanged due,

toa
~a.  Shiftof origin - ‘
- b..  Shift of scale
¢.  Both(a)and (b)
d.

(a) or ) b

0.64

0.96 4 If utsx = 6 and 3y-7v = 20 and oorrelatzon

coefficient between x and y is 0.58 then what be the
- correlation coefficient between U and V ?

© Iftheregrwswncoejﬁcwntofyonxts15andthe : o 058 b. -0.58

 variances of x and y is 4 and 9 respectively then the

~ correlation coefficient is c. . .-084 i Od, .
T | Sp | MTP
‘Z, i) Z - 11 - (18) Ify = 3x+4 is the regression lme yonx and the
g Mav 19 P ‘ arithmetic mean of x is -1, what is the arithmetic
(10) I the coefficient of determination is 0. 64 and the ;nean O{ Y ik
regression coefficient of x on y is 4 then then the T :
. regression coefficient of y on x is Bt ~ d. None of these
o o137 b. 016

¢ 048 R ) ki

VCQGU " :




Cc;f';';lation and Regression J 7 hap

MTP Apr 21 RO Zl Zzi:ifthese

(19) The n;gressiz;n equation x and y is 3x +2y = 100, = 0‘;{", Dec 22 — Series I/ MTP Sep 24 1y
the value of b, @7) If the regression line of y on x and of x on y gre
e =283 b. 100/3 given by 2x+ 3y = -1 and 5x + 6,y = -1 then the
SRR o Now 21 arithmetic means of x and y are given by.

MTP Nov b (=1, 1)
a. (11'1) 4

(20) The coefficients of correlation between two c. (-1,-1) d (23)
variables x and y is the simple of two : MTP Dec 22 - Series |
regression coefficients. (28) For a positive and perfectly correlated random
a.  Harmonic Mean ariables, regression coeficient of xon y is 1.4 and
b.  Arithmetic Mean the SD of X is 2, the variance of Y is
c. Geometric Mean b. 6.76

a. 2.37

d.  None of the above 7 6.56 d. 3.16
' MTP Nov 21 § ' MTP Dec 22 Series I

@1) Ifr=0, regression lines are: 29) ”Ifthétzfuo ession are X +2y ~5=0and
a.  Perpendicular . 2x+3 '%%ression line of y on x is:
3 mindde ' D
c
) Cutrioi be defermin AR e Sl

n o R SRR TR Ot 2T tes are 3

(22) If the regression line of y on x and of x on y are \the value of correlation coefficient is:

giwnbylz+3y=-—1and5x+6y=-1thenthe 05 b5
arithmetic means of x and y are given by * St

a. (1-1 b, G

Greater than or equal to r
halfof r

d. None oi these v

(32)  If the regression line of y on x is given by y = x +
2 and Karl Pearson’s coefficient of correlation is
2 . 5

o
0.5 then —-=

Cx

d. Noneoi ) B s Vv i pnd
v . : d. None oi these

(25) If the regression line of Y on X is given by Y = X + .
2 and Karl Pearson’s coefficient of correlation is ~ (33) When two lines of regression become identical if
a. R=1 b. R=-1

C R=0 d aorb

02
05then == . |
Ox o
;5 0 . L e smal
(34) equations of the two lines of regression are 4%

4 d.
5 None of these +3y+780and3x+4y+’8-=0'1:indthe
(26) If 4y - 5x = 15 is the regression line of y on x and ;‘f’"‘l“fizn7;0ﬁaeﬂtbet§:aenxandy.
the coefficient of correlation between x and y is 4 ; 0'92 d. 0.25
0.75, what is the value of the regression coefficient : : Lo
of xony?

m CA Pranay Popat ||l [ee] ” 4




@) If one regression coefficient is

MTP June 2023 Series I
The regression equation are 2x + 3y + 1= 0 and 5x
coy+1= 0, then Mean of x and y respectively are

g el b, 1,4
e s d 2,3
, MTP June 2023 Series I
.05) If b, =0.5, b,, =0.45 then the value of correlation
coefficient is:
a. 023 b. 0.25

c 039

6en IfYis dependent oanable and X is mdependent
variable and the S.D. of X and Y are 5 and 8
respectively and co-efficient of co-relation between
X and Y is 0.8. Find the Regresswn coefficient of
Y on X: ) _
a. 0.78 b.

(38) In regresszon analys:s, whzchof the followmg can »

bemtheformofanmdexnumber? .
a. Only dependent variable

b.  Only independent vanable

‘c.  Both Aand B :

i If both the regresswn ooeﬂiaen ,7

ofxandy
a 21
b. 2.2
c. 1,1
d. Cannot be deterrmned

(1) Two regression lines are perpendicular each other

ofr=
a.

e -1

0 S ey
d-o 4l

other must be ___unity

the arithmetic means

unity, the

@)

“7)

) For abivariate data, the tuwo lines oegf are
- 4x+5y—137=0 and 2x+9y-179=0, the

 values of Xand Y are:

e

" Correlatlon and Regresslon

a. more than, more than
b. less than, less than
¢ more than, less than
d.  positive, negative
: :  MTP Dec23 Series I
Fmd the coejfﬁctent of correlation 2x+3y=2and
4x+3y=4
a7 b. 0.71

If orte regrwswn coejﬁctent is greater than one,

then other will he:

‘a. More than one

oefficient of Y on X is :
. 531 w2823
- 6.89 ~ d. None Of these

a. 13,17 b.

' Thecorrelatwn coeﬂiaentbetweenxandyts-llz

Thevalueofb =-—1]8 Find b, .

a. ] b4
.O d2

48)

49)

If Y is dependent variable and Xis Independent
 variable and the S.D of X and Y are 5 and 8
respectively and co-efficient of co-relation between
X and Y is 0.8. Find the Regression co-efficient of
Y on X.
st 0.78 b.

1.28

,,,,,,

Out of the following whzch one aﬁ’ects the
regression co-efficient:

a. Change of origin only

b.  Change of scale only

c.  Change of scale & origin both




Correlation and Regression

(50)

(51)

(52)

. oy i MTP Sep 24 Serijeg I
d. chlihcr change of origin nor change of 0 # ot 's the regression line of y on x ang
sca
MTP June 24 Series II1 the arithmetic mean of x is - 1, what is g,
Equations of two lines of regression are arithmetic mean of y? ? :
A = d 3x 8 =0, the mean o : 1 2
4x «:iay +7=0 and 3x +4y+ f Z : L ool
x and y are :
a.  5/7and6/7 A”’;”e’l; Key ooy
b. -4/7 and -11/7 1 b 0
c. 2and4 4 b 5 d o
d.  nome of these 7 d 8 c it
MTP June 24 Series I1T 10 b 1 b
If two variables are uncorrelated then regression 13 5¢ 14 c 15 d
lines are 16 a 17+ b 18 a
a.  Parallel 19 a <20 £ 21 =
b.  Perpendicular - 22 a ,.:;.; 23 “a 24 a
c.  Coincident c 26 a 127 a
d Inclmed at 45° a ). a ’ 30 b
R s v : ¢ 33 d
If one regresswn coefficient is greater than one, 35 c 36 d
then other will be: : 38 ¢ 39 ez
a.  More than one 41 a 42
b Equal to one 4 c 45 ¢
c Less than one a 47 a 48 b
d.  Equal to minus one b 50 b 81 b,
Loe PSS y c 53 a 54 ¢
Two regression lines are perpendicular. 55 b 56 b 57 a

5)

_@ ' CA Pranav Popot |

The two lines of regression are given by

Other Topics

Past Exam Paper Questions

(1) The coefficient of determmatwn defined by the
' formula ;
e e unwcplmnedvarxance
: o : o totalvariance
24, b. » _ explainedvar iance
For) regression ine 4"'23/'“3 &Zx-?'r =5, ﬁ"d b i

1/8 B c.  both(a)and (b)

/12 d. None(ifthm b

@ Find the probable error if r= 2/[10 and n =36

M] | Series I1

8x+10y =25 and l6x+5y=12 respectively. If a.  0.6745 b. 0.067

the variance of x is 25, what is the standard c. 05287 d.  None of these
deviation of y? |
alwelp g k8 / @) Which of the following is spurious correlation?
Sl ey d 4 - a. Correlation between two variables having

no casual relationship




D

| Correlation and Regres;lo

p.  Negative correlation MTP
3 : Now 20/ RTP Sep
;- 3‘:;:?52:::%:: bt:;ow::;mtil:s (@) If the coefficient of correlation mzeiep tuz):
P variables is 0.9, then the coefficient of
WA Vo determination is
: PYQ Jun 23 a. 0.9
Given that r = 0.4 and n = 81, determine the limits b. 0.81
r the population correlation coefficient. G 0.1
o (0.333,0466) b. (0.367,0433) d. 0:19
¢. (0.337,0463) : S March 2021
aiEXQ5ep, 24 (5) The coefficient of two vana';l; is 0.9, t;ten
¢ In case of “Insurance companies’ profit” and coefficient of non-determination is
“The number of claims they have to pay”, there a 09 b. 0.19
exists a: d 0.1
a.  Negative correlation A
b.  Positive correlation on between t
c¢.  Nocorrelation
o It cannot be predicted

@

o Jah
If the
opariables is 0.7 then the percento

Other Topics o PO e
i sl , ¥ Coefficient of non-determination

: Existence of third variable related to both
Mock Test Paper Queshions the variables
el 9 Ser N : Spurious correlation
' RN 4 Nomeoftheabove

‘ (8 ' If r=0.6, then ct of non-determination is

unaccounted for is
. 70% a. 04 b. 06
c.  51% o 036
(2) What is spurio gl VETEN 3 d
g dtn 4 sl 6.
7iL 8 d

@)

7 It is the correlation between fwo variables
having no causal relation. '
It is a negative oorre.

e , MTP May 20
If the coefficient of correlation between two
variables is 0.8 then the percentage of variation
unaccounted for is
a. 70%

C 51%

b. 30%
d. 36%

CA. Pranav Popat . m




